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Word Problems

Use addition to solve each problem. Use the work
space to show your work.

1.

3.

4.

A breakfast restaurant sold 23 orders of
boiled eggs, 125 orders of scrambled eggs,
and 18 orders of fried eggs. How many
orders of eggs did the restaurant sell in all?

ANswer:

. Jimmy collected bottles for recycling. She

started by getting 59 bottles from the
kitchen. Then she visited two friends and got
34 bottles from the first friend and 18 bottles
from the second friend. How many bofttles
did Jimmy collect?

Answer:

Sam counted the dinosaurs in the dinosaur
museum. He counted 3 stegosaurus, 25
triceratops, and 43 tyrannosauruses. How
many dinosaurs did Sam count in all?

Answer:

The florist brought 200 red roses, 50 white
daisies, and 45 red tulips to a wedding. How
many flowers did the florist bring in all?

Answer:
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Word Problems- ANSWER KEY

Use addition to solve each problem. Use the work space to show your work.

1. A breakfast restaurant sold 23 orders of boiled eggs, 125 orders of
scrambled eggs, and 18 orders of fried eggs. How many orders of eggs
did the restaurant sell in all?

Answer: 166 eggs

2. Jimmy collected bottles for recycling. She started by getting 59 bottles
from the kitchen. Then she visited two friends and got 34 bottles from
the first friend and 18 bottles from the second friend. How many bottles
did Jimmy collect?

Answer: 111 bottles

3. Sam counted the dinosaurs in the dinosaur museum. He counted 3
stegosaurus, 25 triceratops, and 43 tyrannosauruses. How many
dinosaurs did Sam count in all?

Answer: 7 1dinosausrs

4. The florist brought 200 red roses, 50 white daisies, and 45 red fulips to a
wedding. How many flowers did the florist bring in all?

Answer: 295 flowers
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